EASTER WORD PROBLEMS #10

Solve the following word problems.

Nick's dad gives him 36 jellybeans for Easter. If Nick gives 14 jellybeans to his
little sister and 10 jellybeans to his little brother, how many jellybeans does he
have left?

Glenda dyes 15 eggs for Easter, while her friend Alexis dyes 22 eggs. How
many Easter eggs do the girls dye in all?

William decorates 33 Easter baskets at school. If he gives 18 of the baskets
away to his family, how many Easter baskets does William have left?

Lauren collects 9 yellow eggs, 22 blue eggs and 13 pink eggs during her
Easter egg hunt in the park. How many eggs does she collect all together?

Dylan has 18 chocolates for Easter. Harry gives him 10 more chocolates.
Dylan gives away 7 chocolates to Jennifer. How many chocolates does Dylan

have now? @
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